<

TEYE v 1€ S0z 9°LTT 0000081 T10T/C1/0T
b€ ¥'s1 91° 6t $9°¢ 000000% 10T/ 11/61
(4%43 801 161 €L €LE 0000+ T10T/11/C1
6LT LT1 TT0 > 98°C 000tC T10T/C1/11
¥'eT vLT 71 101 LS9 00012 ¢10T/11/1T
¥'61 81¢ 171 89 $1¢ 000002 T10T/21/90
T'eT 981 9Z°1 ¥S £5°0C 0000t £10T/10/80
9T §9 950 T vl 0 €10Z/10/11
86°¢ 8‘c 8¢°0 > 69°C 0 - TI0T/11/91
YEE 66 90°C £ §sTe 00€ T1oz/TI/LT
€6y S £0°0 > > 0 (A /AVIN
5T 'S 191 €T T'ss 000001 " T10T/11/0T
(4%% §T 80°0 > > 0 T10T/11/61
€8y ST 90°0 01 €01 00z¢ T10T/C1/81
£'c 81 10°0> > £6°S 0000085€ T107/21/61
€L°0 £'c 20 > > 0 Z107/11/61
8T°S 1°01 11°0 > > 000€ T107/21/61
8Sy S Sz0 > 1£C 0000T T10T/11/61
5L 89 9¢‘0 [£3 L9 00009 T107/21/01
LO'€E (A7 80°T 19 T°LE 0000S TI0T/11/61
IS°L 9'v6 81°0 7> > 000S1 Z10T/11/91
€'s 9L ‘0 > (o 001 T10z/T1/LT
9°6C 9°€T ST1 LS 80°1T 00000LE TI0T/C1/L0
90T 96 v1°0 09 §9°91 051 T10T/11/C1
78°0¢ 9°LE €8°1 12! TLL 00000€T T10Z/11/71
Tsel LT 710 84T LTl 00€T T102/21/81
1%€ 1°L1 8T'1 68 761 000012 TI0T/T1/11
16 €Yz S0°0 7> > 0 ' T10T/T1/90
20°s 9°c 20°0 > (o= 00T T107/C1/01
LIS z #0°0 > ST 001 T10T/11/0T
TL0 ST €6°T o 9Z°01 0 T10T/11/S1
£8°01 1‘c 19°0 4! 7S¢ 00012 . T107/21/61

ojuaweuoidwes ejeq




